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Math 112: #1 A/B

1. Suppose two moon cities have the same longitude and their latitudes are 37° and 54°
Assuming the radius of the moon is 1,737 km. Find the distance between the two
cities as measured along the surface of the moon. State the exact answer, then give a

decimal answer rounded to two decimal places.
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and 652° (Great Bear Lake). Assuming the radius of the Earth is 3,955 miles, find
the distance between the two cities as measured along the surface of the Earth. State
the exact answer, then give a decimal answer rounded to two decimal places.
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